Between Ease and Hardship: The Dichotomy in Solving an ODE

Dr. H. Fatoorehchi

School of Chemical Engineering, University of Tehran, Tehran, Iran hfatoorehchi@ut.ac.ir

January 2, 2024

Abstract

In this note, we will analytically solve a nonlinear second order ODE by two different approaches. We hope that it would serve as a beneficial exercise for the implementation of the Laplace transform method.

1 Problem Statement

Consider the following non-homogeneous linear ODE (a BVP):

$$\begin{cases} (x+1) y'' + y' = -1, \\ y(0) = 0, \quad y'(1) = 0. \end{cases}$$
(1)

2 The Easy Way

It takes a little bit of scrutiny to see

$$(x+1)y'' + y' = \left[(1+x)y' \right]' = -1.$$
(2)

Therefore,

$$(1+x)y' = -x + C_1. (3)$$

Invoking condition y'(1) = 0, we conclude that $C_1 = 1$. Thus,

$$\frac{dy}{dx} = \frac{1-x}{1+x} = \frac{2}{1+x} - 1.$$
(4)

Consequently, it follows that

$$y = 2\ln|1+x| - x + C_2. \tag{5}$$

Using condition y(0) = 0, it implies that $C_2 = 0$. Finally, we obtain the solution to Eq. (1) as

$$y = 2\ln|1+x| - x.$$
 (6)

3 The Hard Way

If we think quite mechanically, we should prompt that the Laplace transform method works fine for linear ODEs with variable coefficients. Therefore, we can take the Laplace transform from both sides of Eq. (1) to yield

$$-\frac{d}{ds}\left[s^2Y(s) - sy(0) - y'(0)\right] + s^2Y(s) - sy(0) - y'(0) + sY(s) - y(0) = -\frac{1}{s}.$$
(7)

Let us take y'(0) = a and move forward. Eq. (7) reduces to

$$\frac{dY}{ds} + \left(\frac{1}{s} - 1\right)Y = -\frac{a}{s^2} + \frac{1}{s^3}.$$
(8)

Obviously, Eq. (8) is a first-order linear ODE that has the following exact solution:

$$Y = \frac{1}{s \ e^{-s}} \left[\int \left(-\frac{a}{s^2} + \frac{1}{s^3} \right) s \ e^{-s} ds + C \right]$$
(9)

It follows that

$$Y = \frac{e^s}{s} \left[-(a+1)Ei(-s) - \frac{e^{-s}}{s} + C \right] = C \frac{e^s}{s} - \frac{1}{s^2} - \frac{(a+1)e^sEi(-s)}{s},$$
(10)

where Ei denotes the exponential integral function. Taking the Lapalce inverse of Eq. (10), it gives

$$y = C\mathscr{L}^{-1}\left\{\frac{e^s}{s}\right\} - x - (a+1)\mathscr{L}^{-1}\left\{\frac{e^s Ei(-s)}{s}\right\}.$$
(11)

It is up to the reader to verify that

$$\mathscr{L}\left\{\ln\frac{1}{|1+x|}\right\} = \frac{e^s Ei(-s)}{s}.$$
(12)

As a result,

$$y = C\mathscr{L}^{-1}\left\{\frac{e^s}{s}\right\} - x + (a+1)\ln|1+x|.$$
(13)

If we use condition y(0) = 0, then we will deduce that C = 0. This is because we have by the initial value theorem of Laplace transforms that

$$\mathscr{L}^{-1}\left\{\frac{e^s}{s}\right\}\Big|_{x=0} = \lim_{s \to +\infty} s \frac{e^s}{s} \neq 0.$$
(14)

Hence,

$$y = -x + (a+1)\ln|1+x|, \qquad (15)$$

and

$$y' = -1 + \frac{a+1}{1+x}.$$
 (16)

Since y'(1) = 0, by Eq. (16) it is concluded that a = 1. Finally,

$$y = -x + 2\ln|1+x|.$$
(17)

If you are interested in the Laplace transform and its inversion, please consult my papers in the reference list.

References

- Fatoorehchi, H. An accurate numerical method for inversion of Laplace transforms with applications in process dynamics and control. The Canadian Journal of Chemical Engineering, 2021, 99(6), 1374-1389. DOI: 10.1002/cjce.23926
- [2] Fatoorehchi, H. and Rach, R. A method for inverting the Laplace transforms of two classes of rational transfer functions in control engineering. Alexandria Engineering Journal, 2020, 59(6), 4879-4887. DOI: 10.1016/j.aej.2020.08.052
- [3] Fatoorehchi, H. and Alidadi, M. Laplace transform method for mathematical analysis of the Thomas-Fermi equation. Chinese Journal of Physics, 2017, 55(6), 2548-2558. DOI: 10.1016/j.cjph.2017.10.001
- [4] Fatoorehchi, H. and Abolghasemi, H. Series solution of nonlinear differential equations by a novel extension of the Laplace transform method. International Journal of Computer Mathematics, 2016, 93(8), 1299-1319. DOI: 10.1080/00207160.2015.1045421
- [5] Fatoorehchi, H. and Abolghasemi, H. A practical method for computation of Laplace inverses by Post-Widder's formula. National Academy Science Letters, 2017, 40, 197-198. DOI: 10.1007/s40009-017-0552-7

hfatoorehchi.com